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1. Use the standard algorithm to solve the following subtraction problems.
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Directions: Draw a tape diagram to represent each problem. Use numbers to solve and write your answer as
a statement. Check your answers,

2. There are 86,400 seconds in one day. If Mr. Liegel is at work for 28,800 seconds a day, how many seconds
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3, A newspaper company delivered 240,900 newspapers before 6 a.m. on Sunday. There were a total of
525,600 newspapers to deliver. How many more newspapers needed to be delivered on Sunday?
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4. Atheater holds a total of 2,013 chairs. 197 chairs are in the VIP section. How many chairs are not in the
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